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Question Number : 1 Question Id : 3426041 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If f:RR is defined as f(x+y)=f(x)+(y), Yx,7€R and f(1)=10, then,

n

Y (1) -

r=l
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Options:

[

—n(n+1

Jn(n+ )
1.%

Sn(n+1)
2. %

50

7n(n+l)(2n+1)
3. ¢ )

100

—n (n+1
T “(n+1)°

Question Number : 2 Question Id : 3426042 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

P —X
3743

VxeR and it satisfies

If f:RoR isdefinedas f(x)=

et

S+ +f(x-p)=af(x)f(p),thena=

Options:
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Question Number : 3 Question Id : 3426043 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1 1 |
Forany ne N, g W o =

25 58 7 (3n-1)(3n+2)

Options :
n
6n+4
1. ¢
2
n
6n+4
2. =
-
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.6n+4
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6n° +4

Question Number : 4 Question Id : 3426044 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the system of equations 3x-2p+z=0, Ax-14y+152=0, x+2y-3z=0 has a

solution other than x=y=z=0, then 1=

Options :

1
1. %

2
2. %

3
3. %

S
4.
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Question Number : 5 Question Id : 3426045 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If A=l b b’|=K(a-b)(b-c)(c—a),thenK=

I 8 &

Options:

—1
1. %

|
2.

2
3. %

3
4. %

Question Number : 6 Question Id : 3426046 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If v=a,y= 2= 15 the unique solution of the system of equations Sx-7y+3z =0,
Tx+10y-82=3 and 2v+3y-4z2+4=0, then fi=

Options:
1.
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b | —

2
2.v

—2
3. %

=

2
4.%

Question Number : 7 Question Id : 3426047 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1
If (a+ib)* =2+3i, then 3b—2a=

Options:
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Question Number : 8 Question Id : 3426048 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o 15 a complex cube root of umty. Match the ttems of List-I to the items of List-II

List-I List-1I
A) g™y D0
B (1+0-0')l-04e’) I
Y (2+0)2 +0' )5 m -l
D) (3 +50+30" )3 V) 4
V) 8

The correct match 1

Options:
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111 IV I V
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[ IV
2. ®
A B
III IV
3.¢
A B
I11 |
4.%

II

II

Y

Question Number : 9 Question Id : 3426049 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the roots of the equation (2-4)°=8i are a-2i,b+i, and ¢+1i,then Jabe =

Options:
134/3
1. %
”
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Question Number : 10 Question Id : 34260410 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

a

If — and are the roots of the quadsatic equation x°+7x+3=0, then the

a+l  f+l

equation having roots ¢tand £ is

Options :

2
3x —x—-3=0

1. %

11x* +13x+3=0
2.9

13x2 +11x+13=0
3. %
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11x* +3x+13=0
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Question Number : 11 Question Id : 34260411 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

X +14x+9 . e o A
f y=———— VxeK, then the interval of maximum length in which y lies 1s
g
Options:
5,4
1.¢
4, 5]
2. %
: 5
—. 3
3
3. %
-1
. i3
3
4. %

Question Number : 12 Question Id : 34260412 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The equation whose roots are squares of the roots of x* ~2x"+6x-21=0 is

Options:
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x*—4x° —18x" —36x+441=0

1.¢

x'+18x° —4x* +36x+441=0
2. %

xt=2x +4x* +6x+441=0
3. %

x*+3x° —5x2+6x+441=0
4. %

Question Number : 13 Question Id : 34260413 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1+a+l+ﬂ+l+y ~

If a.f.7 are the roots of x’—x+1=0, then

l-a 1- 1-y
Options:
|
1.4
0
2. %
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Question Number : 14 Question Id : 34260414 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

.
34 +:Z(;(38—r) =

<,

Options :

22% 39(‘4
1. %

39(‘4
2. %

3K 39C5
3. %

39C5
4.
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Question Number : 15 Question Id : 34260415 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

It 22 : 20 =11:52 then 7=
Pr+l Pr+2
Options:
3
1. %
5
2. %
;
3¢
9
4. %

Question Number : 16 Question Id : 34260416 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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4 . - - 11
The value of the numerically greatest term in the expansion of (2x+3y)" when x=

ro | —

|
and V== 15
"3

Options:

462
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e, |3)
2. %
. 3
Cs ZJ
3. %
576
4. %

Question Number : 17 Question Id : 34260417 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

6
e e v A . X ) 3\
The coefficient of X in the expansion of (1—.\'—.\' +X ) 1S

Options:
120
1. %
15
2. %
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Question Number : 18 Question Id : 34260418 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

12

The sum of the coetficients in the expansion of l+—] 18
)
Options :
0
1.%
~11
2. %
2\2
( 2 J
3.¢Y
‘)12
4. %
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Question Number : 19 Question Id : 34260419 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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For any quadratic polynomial f (x), it 1s true that

f'la)

flx)=f(a)+f '(a)(,\‘—a)+T(,\‘—a)2 . where a is any real number.

W idetT A B

If 3 3 _
2] (-0 -2

A+B+C=

Options :

g(2)+g'(2)+2"(2)

3.

and g(x)=3x"+4x+7 then
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Question Number : 20 Question Id : 34260420 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

:
gcollegedumaa
India’s largest Student Review Platform



T 27 RY/4 4 Sm o1 I
cot— : cot— - cot— cot— . cot— . cot— . cot— =
16 16 16 16 16 16 16

Options:

0
1. %

|
2.

|

2
3. %

2
4. %

Question Number : 21 Question Id : 34260421 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let ACB be a triangle with nght-angle at C. Let AB = 29 umits, BC = 21 unts and
[ABC=4. Then cos” f-sin’f =

Options:

% :
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41

b

441
3. %

L

800
4. =

Question Number : 22 Question Id : 34260422 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

l1-cos260+smn26

l1+cos260+sm226

Options:

cot @

cos 26
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tan 26

Question Number : 23 Question Id : 34260423 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

»s:i%) ~ v ' N
Let y=4sin"f-cos26. If [ and m are the mummum and maximum values of y

respectively, then

Options :
m
Im=—
1.
[
Im=—
m
2. %
[
[+m=—
m
3. %
Im
—_—=]4+m
[ —-m
4.
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Question Number : 24 Question Id : 34260424 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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; l L
If cos@=——and tand =1, then the general value of & 1s

N

Options:

T
2nrt+—.n=0.12.3......

(2;7+1)ﬂ+§.n =0 L F

T
nr+=—n=0.123.......

3. %

7T
HIEE— A =0.4-2.8. ..o

4. %

Question Number : 25 Question Id : 34260425 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

P | -1
IS x<Cos x.then

Options:

1
—l<x<—
2 gcollegedunia;
\'.?'? India’s largest Student Review Platform



collegedunia:

India’s largest Student Review Platform



—f3<x<-1

2. %
|
—<x<l
2
3. %
l<.\‘<\/§
4. %

Question Number : 26 Question Id : 34260426 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Cot h™'(2) + Cosech™ (—2+/2) =

Options:

%
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Question Number : 27 Question Id : 34260427 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘ 7 T T e ;
In AABC, |B= 7 = /7 Ifthe area of the triangle 15 54 + 18 \3 sq. units, then a =
* 3

Options :

\/§+l
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Question Number : 28 Question Id : 34260428 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If 0, b, ¢ ate the sides of a A ABC and excadii 1, r,, 7, ate respectively 12, 6,4 then

a+2b+3c=

Options:

24
1. ®

44
2.

30
3. %

54
4. %

Question Number : 29 Question Id : 34260429 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
. - ) l
In a triangle ABC,1fa:b:c=4:5:6, then ﬁ[li T, +13] =

Options:
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71
64
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N | =

81
&4

Question Number : 30 Question Id : 34260430 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a triangle ABC, with usual notation, 1if a = 12, b =16, ¢ = 20, then the ratio of the
extadii of the triangle opposite to-the angles mn the order ZC, /B, ZA 1s

Options:
3 24355
1.%
6232
2.9
.
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Question Number : 31 Question Id : 34260431 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the vectors —3i+4j+ Ak and ui+8;+6k are collinear, then A-4=

Options:
0
1. %
-3
2. %
6
3. %
9
4.

Question Number : 32 Question Id : 34260432 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The angle between the vectors 2k—3; and 7—2k 1s
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Options:

8
-1
Cos
\/63
1. %
—4
Cos™|~——
2. 65
.
_1 —
Cos
65
3. %
R
Cos L|—2
13
4. %

Question Number : 33 Question Id : 34260433 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Thiee vectors a,band ¢ satisty a+b+c=0. If ‘a‘:&

7
/
v

b‘:iH:Q. then

n.b+b.c+c.a+2(

1R

Options:
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2. ¥
-l
2
3. %
11
2
4. %

Question Number : 34 Question Id : 34260434 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(a+2b-c)(a-byx(a~b-c)}| =

Options:
2 [abc]
1. %
labc]
2. %
v
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3[abc]
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Question Number : 35 Question Id : 34260435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If a=i+j+k, c=j-k are given vectors, then a vector b satistying the equations

axb=c and a-b=3 s

Options :

4. =
gcollegeduniaa



Question Number : 36 Question Id : 34260436 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let a=0i-3j+k, b=i+2j-3%, c=i-j ad d=i+jak. H (xblxe is

perpendicular to d , then x=

Options:
=
)
)
1. %
2
2. %
2
e
5,
3. %
1
4.

Question Number : 37 Question Id : 34260437 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 10 15 the mean of the data 2. 3.5, 18, 17. 15, 13. x. 9 and 7. then the mean deviation
of this data about 1ts mean 15
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Options:

4.7
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4.8

2.«
4.9
3. %
5.0
4. %

Question Number : 38 Question Id : 34260438 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A, B, C are aimung to shoot a balloon. A will succeed 4 times out of 6 attempts. The
chance of B to shoot the balloon 1s 3 out of § and that of C 15 2 out of 3. If the three am
to shoot the balloon simultaneously, then the probability that at least two of them hit
the balloon 15

Options:

\O | th

:
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th

4. &

Question Number : 39 Question Id : 34260439 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o 152 complex cube root of unity. When an unbased die 15 thrown 3 times, if 4, ,, 4,

are the numbers appeared on the die, then the probability that £, f, and £, satisty

A ;1 f)?‘ !
M +0" =0 s

Options :
212
513
1. %
1
=2
D
2. %
P J
D
5
3. %
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Question Number : 40 Question Id : 34260440 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

oot

P ; 1
(/~1) & andP AUB)=KP(B), then a

-~

Options:
40
49
1. %
40
43
2.
100
101
3. %
1
4. ®

Question Number : 41 Question Id : 34260441 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If the probability that an ndividual will suffer a bad reaction from an mjection 1s (.001,
then the probability that out of 2000 mdividuals, exactly 3 mdividuals suffer a bad
reaction 1

Options:
4
)
3e”
1. ¢
7
—
e
2. %
’
2
3e”
3. %
4
P
e
4, %

Question Number : 42 Question Id : 34260442 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A fair coin 1s tossed 13 tumes. The probabulity that the tail will appear atleast thrice 1s

Options:
1.

:
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10°

715
121
] ——
713
2.
|
a ')15
KR -
16
4. %

Question Number : 43 Question Id : 34260443 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A 1od of length 6 units slides with its ends on the coordinate axes. The locus of the
midpotnt of the rod 1s

Options:

3 p)
;\.— | }.— Yo 9
1.9

:
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x*+y° =36

X+y=6
4.%

Question Number : 44 Question Id : 34260444 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

N . N g il -
The transtormed equation of the curve 21”+y"=3x+5y-8=0 when the origin 1s

translated to the pomt (=1, 2) 1s
Options :

pi p) 3
2x“+y  =Tx+9y+11=0

1.¢
2 2
2x"+y +7x+9y+11=0
2. %
3 o o)
2x"+y —x+y+11=0
3. %
E

:
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Question Number : 45 Question Id : 34260445 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The pomnt on the line 4x~y~2=0 which 1s equidistant from the points (-3, 6) and
(3.2)15

Options:

(2, 6)
1. %

(4, 14)
2.

Question Number : 46 Question Id : 34260446 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The mcentre of the triangle having the vertices (hﬁ ) (0, 0) and (2,0) 15

Options:
1.

:
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&

2
o)
D 1
3743
2. %
3 5
3" 2
3%
-
Ik
3
4.

Question Number : 47 Question Id : 34260447 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If P'(a,b) 1s the image of the point P(=1, 2) with respect to the line x-2y+3=0,

then the length of the perpendicular from P'on to the line 2+ y-7=0 is

Options:

. gcollegedunia;
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2. %

-

5
3.¢

¥
4. %

Question Number : 48 Question Id : 34260448 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[f the vertices of a triangle ABC are A(1, 7), B(=3, 1) and C(7, 4), then the equation
of a bisector of |ABC'is

Options:

7x—9y+26=0

1.¥

9x—7y+38=0

:
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Ix+9y+44=0

Qx+Ty+52 =0

:
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 49 Question Id : 34260449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The combined equation of the two diameters of a circle which divide the circle mto 4
. ) ) N N . 8 N
sectors 18 ax”+2hwy+by” =0 If the area of the bigger sector is 5 tunes the area of the

‘a + b‘
smaller sector. then =

(a—b)l 4

Options :

1o | —

l\)lﬁl

-

:
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Question Number : 50 Question Id : 34260450 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

s g ) s : i ;
£ 92"~ 24xy+16y" + arx+ fiy+6 represents a pair of parallel lmes of 1 unit apart and

- a
one of those lines passes through (1,1) then —=

Options:
9
oy
b |
1. %
1
2. %
“
—)
2
3. %
i
—=9)
4.

Question Number : 51 Question Id : 34260451 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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[f (a, b) 15 the centre of the circle passing through the vertices of the trangle formed by
1+y=0, 20+ y=4 and x+2y =3, then (4, b) is

Options:

:
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(—11, =16)

1. %
1719
o
(17, 18)
3 %
-17 -19
2 2
4. %

Question Number : 52 Question Id : 34260452 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~ . . N ~ . ) g) N
The locus of the mud pomts of the chords of the circle x”-2x+y" =0 drawn from a
pomt (0, 0) on 1t 1s

Options:

S,
X +y —x=0
1.9

%
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Dt y—=2=D
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)

Yy +x—-1=0

)
y+x +2x-3=0

Question Number : 53 Question Id : 34260453 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of possible common tangents that can be drawn to the circles
) ) ) ) .
X' +y +4x-6y-3=0and x"+y +4x-2y+1=0 15

Options :

4
1. %

3
2. %

|
3.

0
4.
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Question Number : 54 Question Id : 34260454 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The equation of the circle passing through (1, 1) and through the pomts of mtersection
N ' ) ) ) ) o .
of the circles x™+y” +13x-3y =0 and 2x"+2y" +4x-Ty-25=01

Options:

4x% +4y* +30x—13y-25=0

1.9
2 2 - b
2x° %2y +10x=19y=0
2. %
2 2 s -
4x" +4y" +25x+12y—-45=0
3. %
2 2
4x° +4y" +13x-30y+9=0
4. %

Question Number : 55 Question Id : 34260455 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the circles (x-2) +(y-3) =25 and 25" +25y"~40x-T0y-160=0 touch

mternally at (o, ) then ¢+ f=

:
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Options:

0

:
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Question Number : 56 Question Id : 34260456 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

-

)
A point on the parabola whose focus and vertex are respectivelyat | =,-2 | and (1,-2)

IS
Options:
(4. 0)
1. %
(15 2)
2. %

:
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(3;—=1)

~



(10, 1)

Question Number : 57 Question Id : 34260457 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. . 2
The parametric equations of the parabola y°—4x-8y-12=0 are

Options :
x="T42t
1. %
x=—7+2f.
2. %
)
xX=—7+1",
3. %
5 )
=TT+
4.

=—4+1
y=4+2t
y=—442f
y=4+2t
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Question Number : 58 Question Id : 34260458 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A focus of an ellipse having eccentricity T at (0, 0) and a durectrx 15 the lme x =4,

Then the equation of one such ellipse 1s

Options:

—
)
L 4
-
|
—
o
to

]
=]
64 32
3. %
(3x+4) +123* =64
4.

Question Number : 59 Question Id : 34260459 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The area (in square units) of the quadrilateral formed by joining the foctt of  the two
Py 2 i

ellipses —+—=1and —+==11s
9 3 a4

Options:
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1. %

2
2. %

6
3. %

8
4.9

Question Number : 60 Question Id : 34260460 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. . , ry
The lines xcoser+ ysina =P, € R are chords of the hyperbola 3 —'3—6 =] and they

subtend a right angle at the centre of the hyperbola. The locus of the poles of these lines
with respect to the given hyperbola is

Options:

x*—16y° =108
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16x* —y* =108
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16x> + y* =108

3.

x> +16y* =108

Question Number : 61 Question Id : 34260461 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0515

If | === is the centroid of a tetrahedron whose vertices are (a, 2, 1), (1, b, 4),

(4,0,¢) and (1,1, 7), then

Options:

a=b=c
1. %

a=b=c+1
2. %

b=c=a+1
3. %

:
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a==b-+1
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Question Number : 62 Question Id : 34260462 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The direction cosines of the line making angles Y and § [0<0 <7 respectively

with x, y and - axes, are

Options:

1.
1143
N3 22
2. %
4 L 3
3" 079
3. %
I x3 i
NREAN,
4. %
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Question Number : 63 Question Id : 34260463 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

:
gcollegedumaa
India’s largest Student Review Platform



The pomnt on the plane 2x~2y+4z+5=0 that is nearer to | I,=,2 | 1s

ro | wo

Options:
5
0.—.0
2
1.v
_ =5
-5, —, 0
2
2. %
-5
0.0, —
4
3. %
—=.0, -1
D
4. % -

Question Number : 64 Question Id : 34260464 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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1 (1-x)

Options:
1.
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—1
2.9
0
3. %
-1
P
4. %

Question Number : 65 Question Id : 34260465 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2-yx+4 L .
Let f(x)= — = ol 0.In order that f(x) is contimuous atx =0, f(0) isto be
sin 2

defmed as

Options:

—1

8

1. ¢
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oo | —

Question Number : 66 Question Id : 34260466 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

l+cosx, x<0

~ . . 2 )
If f(x)=<a-x,  0<x<2 iscontinuous everywhere, then a” +5" =

gl )]
X =b°, x>2
Options:
1. %
8
2.
”

gcollegedunia%
33 India’s largest Student Review Platform



:
gcollegedumas
India’s largest Student Review Platform

~



Question Number : 67 Question Id : 34260467 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. - . _ dx
I x=5(1-sint), y=5(f+cost), then —=
dv
Options :
sint—1
cos
1, %
cos f
sint—1
2. ¢
[
tan —
2
3. %
.
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Question Number : 68 Question Id : 34260468 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let g: [—2, 2] >R and f: [—2, 2] —R are two functions defined as
-1, 1f -2<a<0)
8lv)= 1\‘2—’1, ;f 033:2 and f (x):|g(,\‘)’+g(|x‘)+2. In the mterval

(-2,2), f 1s not differentiable at x =

Options:

0
1. %

1
2.

1

2
3. %

—1
4. %

Question Number : 69 Question Id : 34260469 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0
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Constder the following statements.
a)  Ifafunction 1s differentiable at a pomt ‘p’ then 1t 1s not contiuous at ‘p’
b)  Ifafunction 1s not contmuous at x = a, then 1t 15 not differentiable at x =a

o) If f(x)=
d) I f(x)=x-[x], then f'(1)=1

Which of the above statements are (1s) correct?

x| then f(x)1s not differentiable but continuous on R

Options:

Only (b)

(b) and (c)

2.

Only (¢)

3. %

(c) and (d)

Question Number : 70 Question Id : 34260470 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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d’y

dx

\_J

-~ 2 2
If x“+xy+y =k, then

8]

Options:
1.

:
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—6k

(x+2y)°
—6k
(x4 2y)°
2. %
xF+ay+y°
(2x+y)’
3. %
0
4. %

Question Number : 71 Question Id : 34260471 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The approximate value of (8.01)”* +(8.01)" upto 3 decimal places is

Options:

80.116
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33 India’s largest Student Review Platform



80.216
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80

80.186

Question Number : 72 Question Id : 34260472 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the tangent at a point P on the curve =4+ +x is perpendicular to the tangent to
the same curve at (0, 0), then the pomt P 15

Options :

=] ~F

2 4
1. ¢

I &

24
2. %

(1, 3)

3. =
4.
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Question Number : 73 Question Id : 34260473 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

gcollegeduniae:



Correct Marks : 1 Wrong Marks : 0

) )) ) ) .
The angle between the curves 21" +y =20 and 4y"-2"=8 at a point where they
intersect in the 4” quadrant is

Options:
0
1%
T
2
2.
T
4
3. %
T
6
4. %

Question Number : 74 Question Id : 34260474 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
a5

If the function f(x) =x(x+3)e? satisfies all the conditions of Rolle’s theorem in
[-3,0], thenarootof f'(x)=01s
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Options:

3
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2. %

-2
3.¢

3
4. %

Question Number : 75 Question Id : 34260475 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

J‘ d.\‘ _
siln X 4+ COS X

Options:
1 X.
—log|tan| —+— ||+ C
2 2" 8,

1.
1 X 7w
—=log|tan| —+— [+ C
J2 ,

2. %

.
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Question Number : 76 Question Id : 34260476 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[+ 2 +3dx =

Options :
2 2 [ 2.2 5]
—x+3(3x* —13x+12)+C
15

1. %
2 = | :
—\x+3(3x% +13x+12)+C
15

2.¥
2 o 3 o 007 2 3
— ,\'+3(3,\“—12,\'+13)+C
D .

-

:
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2

-

.\~+3(3x3+12x+13)+c

Question Number : 77 Question Id : 34260477 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I (1—cosx )2""7
(1+cosx v)g"/7
Options :

11

T X7 ]
—(tanlJ +C
11 2

<

l[ tani ]H =X A
1 2

-

:
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Question Number : 78 Question Id : 34260478 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0 o 8
log3x~
J‘ dx =

log3x” +log(588 —84x +3x7)

5

Options:
2
1.4
|
2. %
|
2
3. %
4
4. %

Question Number : 79 Question Id : 34260479 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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1

log(1+x Llog(1+x :
J» Og( )\)dx:J‘ Og( 7\)dA‘+jf(l')dA' then f(.\')z
A s dex ’

Options:
1.



B
log (1+x)
. 1+x°
log (1—x)
1+ x°
3.¥
0
4. %

Question Number : 80 Question Id : 34260480 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

.. dy : Bt
The general solution of ——=x+smxcos y+xcosy+smx is
dx
Options:
2
X y ,
tan—==——cosy+C
2 2 )
1. %
2
i
tan ; = T —cosx+C gcqllegedunia;
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4.

Physics
Section Id : 3426042
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response : ves
Sub-Section Number : 1
Sub-Section Id : 3426042
Question Shuffling Allowed : Yes
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Question, Nuribdr : 81'Question Id.: 34260481 Question Type : MCQ Option Shuffling : Yes
Di§PIay Questia'l Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s incorrect?
lan—=—+COSX + (X
9, 2
Options : s =

:
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Conservation laws have deep connection with symmetries of nature

Weak nuclear force 1s weakest among all fundamental forces of nature
2.

A conservation law 1s a hypothesis based on observations and experiments
3. %

In a nuclear process mass gets converted to energy or vice versa
4. %

Question Number : 82 Question Id : 34260482 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: : ~ 1.4 : o'y 4 TR R, § 6 COa
The dimenstons of ¢b” where ‘o' 15 Stefan’s constant and ‘b’ 1s Wien’s constant are

Options:

[M°L°T?]

1. %

[ML*T™]

2.

[ML>T]

3. %

[MLT]

®
gcollegedunia;



collegedunia:

India’s largest Student Review Platform



Question Number : 83 Question Id : 34260483 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A car travels m a straight line along a road. Its distance ‘x” from a stop sign is given as a
function of ‘t’ by the equation x(t) = at + pt’, where 0. =2.0 s, p=0.01 nvs”. Calculate
the average velocty of the car m the time mterval t = 2.00 sec to 4.0 sec.

Options:

2.28 m/s
494 m/s
3.34 m/s

4.12 m/s

Question Number : 84 Question Id : 34260484 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A car drtver 1s trymg to jump actoss a path as shown 1 figure by drrving horizontally off
a cliff ‘X" at the speed 10 nws. When he touches peak Z (1gnore air resistance), what

would be speed?
(use g=10m/s?)

Options :

30 m/s
1.

40 m/s
2. %

15 m/s
3. %

50 m/s

100m

»
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Question Number : 85 Question Id : 34260485 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Find the angle between the two vectors: a =31+2)+5k, h=5i+3 J+k

Options:
COS—I L
V1330
1.
. =alf 28
Sin ——_—
V1330
2. %
COS—I A
V1335
3. %
tan " i
V1330
4. %

Question Number : 86 Question Id : 34260486 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A particle moves over a xy plane with a constant acceleration

5=(4.0111/’sz)i+(4.01n/sz i). Attime t =0, the velocity is (4.0m/s")i . The speed of the
particle when it 1s displaced by 6.0 m parallel to the x-axis 1s

Options:

:
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4\/§ m/s

1.

60 m/s
2. %

34/10 m/s
3. %

20 m/s
4. %

Question Number : 87 Question Id : 34260487 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Block A of mass 3 kg rests on another block B of mass 7kg. The coeffictent of friction
between A and B 15 0.4 while the coefficient of friction between B and the horizontal
floor on which B rests 15 0.55. Find the force of friction between A and B, when a
horizontal force of 50 N 1s applied on the block B.

)
(Use =10 m/s”)
Options:

0

1.¢

2
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Question Number : 88 Question Id : 34260488 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

i

[ oy

m

What 1s the maximum force F that can be applied on block my, so that both m & my will
move together? There 15 no friction between my and the horizontal table. The coefficient

of friction between ‘m;” and ‘my” 15 1.

Options:

Hm, g

1. %

p(m, +m,)g
2.

m, m,

(m; +m,)
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pm, g
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Question Number : 89 Question Id : 34260489 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. o ' ' w ~ I I )
The potential energy of a particle 1 a central field has the form Ufr) = —-- , where ‘t'

o
1§ the distance from the centre of the field. The magnitude of the maxmum attractive
force m Newton 1s

Options :
A
27
1.4
L
9
2. %
g
3
3. %
1
4. %
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Question Number : 90 Question Id : 34260490 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Constder arocket 1s beimg fired. The kinetic energy of the rocket 1s mereased by 16 times
where as 1ts total mass 1s educed by half through the burning of fuel. The factor by which
1ts MOMENtum Increases 1s

Options:

2.9

Question Number : 91 Question Id : 34260491 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A ngid body of mass M and radius R rolls without slipping on an melmed plane of
mclation 0, under gravity. Match the type of body Column I with maguitude of the

force of friction Column II.

Column]|

A) Forring

B) Forsolid sphere

() Forsolid cylinder

D) For hallow cylmder

Options :
A B
IV III
1.
A B
I II
2. %

Column II

) Mgsinf
25

) Mgsin
3

) Mgsinf
3.5

IV)  Mgsin
)

II

IV

IV

IV



o

II

1AY

I1I
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Question Number : 92 Question Id : 34260492 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A small dise of mass 500 gm and radius 5 em rolls down an melined plane without
slipping. Speed of its center of mass when 1t reaches the bottom of the mcline plane
depends on

Options :

mass & radius

mass & height of the incline
2. %

) height of the incline
3

height of the incline and acceleration due to gravity
4.
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Question Number : 93 Question Id : 34260493 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A body of mass 1 kg 15 executing simple harmonic motion (SHM). Its displacement
y (in cm) at time t given by y=|6sm/ 100t+— | lom. Its maximwum kinetic energy 1s

Options:

1.87

1817

2.

180J

0.181]

Question Number : 94 Question Id : 34260494 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the change m mass of a body, when taken 64 km below the surface of the earth?
[Take radus of the earth as 6400 k]

Options:

Increases by 2%

v
:
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Remain constant
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Increases by 1%

Decrease by 1%

Question Number : 95 Question Id : 34260495 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider a rod of length 1.0 m with a cross-sectional area of 0.50 e’ The rod supports
a 500-kg platform that hangs attached to the rod’s lower end. What 1s elongation of the
tod under the stress ignormg the weight of the rod? Consider the Young’s modulus to be
10"Pa.and g =10 m’s”

Options :

2 mm
1. %

0.5 mm

[.5 mm

I mm
4.
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Question Number : 96 Question Id : 34260496 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Water 1s pumped steadly out of a flooded basement, at the speed of 10 nvs through a hose
(tube) of radius 1 cm, passing through a window 3 m above the water level. The power

of the pump s

(Assume g =10 nv's", density of water = 1000 kg/m’)

Options:

80 W

1.+

30t W

2. %

50 W

90t W

Question Number : 97 Question Id : 34260497 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A U-shaped tube is partially filled with an incompressible liquid of density 1.2 glem’
Ot which does not mix with the liquid 1s next poured nto left side of the U-tube until the
liquid rises by 15 cm on the right side of U-tube. If the density of the oil is 0.9 g/em”, the
oil level will stand hugher than the liquid level of right side of U-tube by

Options:

15 cm
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10 cm
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12 cm
3. %

9 cm

Question Number : 98 Question Id : 34260498 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ratto of linear expanstvity to the co-efficient of a real expansion of a rectangular
sheet of a solid 1s

Options :

2
1. %

0.5
2. ¢

|
3. %

1.5
4. %

:
gcollegedunla%
India’s largest Student Review Platform



Question Number : 99 Question Id : 34260499 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Two rods whose lengths are [, and /, with heat conductivity co-effictents £ and k,are
placed end to end. The heat conductrvity coefficient of a untform rod of length /4,

whose conductivity 1 same as that of the system of these two rods 15

Options:
(l1 = )l\'lk_,
ky L +k, 1,

1.

CEZW] .~

kI +k, 1,

2. %
kil + kyl,
(,+1,)k k,

3. %
ke ¥ il
(1, +1,)k k,

4. %

Question Number : 100 Question Id : 342604100 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Constder a two stage Carnot engine. In the first stage heat () 15 absorbed at temperature
T and heat (), 15 expelled at temperature o T (where ¢ <1). In the second stage heat 0,
is absorbed at temperature T and heat () is expelled at temperature AT (§<at). The

efficiency of the Camot engime will be

Options:
l=g-p
1. %
|-
2. %

Question Number : 101 Question Id : 342604101 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3 ” i ) B 1) ’ g

A diatomic gas of volume 2 m” at a pressure 2 x 10" N/ is compressed adiabatically to
a volume (.5 m", The work done i this process 1s.

[Use 4*=6.96]

Options:

2.96 x10°]

®
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— 296 x 10°]

— 74 x10°J

3. ¥

7.4 x 10°]
4. %

Question Number : 102 Question Id : 342604102 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per kmetic theory of gases which of the following statements 1 / are true?

a)  Temperature of a gas 15 a measure of average kinetic energy of a molecule
b)  Temperature of a gas depends on the nature of the gas
¢)  Heavier molecule has lower average speed
d)  Lighter molecule has lower average speed
Options:
a & b are true
1%
b & c are true
2. %
a & c are true
3.¢
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b & d are true

:
gcollegedumas
India’s largest Student Review Platform

~



Question Number : 103 Question Id : 342604103 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A wave 15 represented by the equation y=(0.02 m)stn(S7x-20f). The minimum

distance between the two particles always having the same speed 1s. (Assume x and ¢ are
m ST units)

Options:

0.02m
1. %

04m
2. %

0.8 m
3. %

02m
4.

Question Number : 104 Question Id : 342604104 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A screen 15 placed 90 cm from an object. The image 1s formed by using a convex lens
twice on the screen by putting the lens at two different locations separated by 20 cm. The
focal length of the lens 1s approximately equal to

Options:

21.38 cm

:
gcollegedumas
India’s largest Student Review Platfori m



30.0 cm

2. %

350 cm
3. %

24 cm
4. %

Question Number : 105 Question Id : 342604105 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What would be the angular separation between the consecutive bright fringes m Youngs
double slit experiment with blue green light of wavelength 400 nm? The separation
between the slits 15 0.001 m.

Options:

4%107* rad

1.¥
3x10* rad

2. %
2%107* rad

3. %

#®
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1x107* rad
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Question Number : 106 Question Id : 342604106 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. . o . TR 59 4 8 i

A circular wire loop of radius 10 cm carrtes a total charge of 10” C distributed untformly
' y ~ () A ' ' A . ~
over its length. A small length of 3.14x10™ m of wire 1s cut off. The magitude of

electric field at the center due to the remaming wire 15

1 ot
(Assume ——=9x10"S] units)
dne,

— Wit Ul

Options:
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30 N/C

40 N/C

35 N/C

45 N/C gcqllegeduniag



Question Number : 107 Question Id : 342604107 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Constder the charged cylindrical capacitor. The magnitude of electric field E 1 its
annular region

Options:
.y’ | . ; : .
Varies as — ., where r 1s the distance from its axis
1.4 :
Zero
2. %

Is same throughout and ‘E| >0
3. %

: 1 : . S :
Varies as —, where 1 1s the distance from its axis
2

Question Number : 108 Question Id : 342604108 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A spherical capacttor consists of two concentric spherical conductors. Find the
capacitance of the spherical capacitor 1f the outer radius 1s 2R and the inner radius 15 R

Options:
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4me R

%
8me,R
2.
8me,
3. % R
4me,
R
4. %

Question Number : 109 Question Id : 342604109 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A wire of length / carries a current [ along the X- axis. The magnetic force acting on the

A A

wire 1s given by F =IBOL(I( -] )T where B, 1s a constant. The existing magnetic field

B 1s
Options:
A
Bl i
1. %
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A A A

.l I+ j=ik
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3.¢

Question Number : 110 Question Id : 342604110 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘ .."."“. dCl ¢ '( ¢ LB l,(
Two long wires with no contact are placed perpendicular to each other. 7 and i, are

currents flowing through these wires respectively. The magnetic force on a small length
‘dl’ of the second wre sttuated at a distance ‘| from first wire 1s proportional to

Options:

i1,

1.9

2. %
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Question Number : 111 Question Id : 342604111 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A solenoid has a core of a matertal with relative permeability S01. The windmgs of the
solenoid are msulated from the core and carry a current of 2.5 A. If the number of turns
ate 900 per metre. The magnetization m A/m 15

Options:

1.125x10°

1.¢

2.8x10°

2.25%10°

1.69x10°8

Question Number : 112 Question Id : 342604112 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A long straight solenotd with cross sectional radius ‘a” and number of turns per unit
lenoth 1 hasaument\amno with time as I(As™). The magnitude of the electric field
as a function of distance ‘1’ from the solenoid axis 1s

Options:
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np,a’l
2r
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2a
2. %
na“l
2U.r
3. % Ho
Hola
2n
4. %

Question Number : 113 Question Id : 342604113 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
An alternating current 1s given by 7 =2smef +6cosof . The rms current in amperes 1s

Options:

1.9
2410
2. %
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Question Number : 114 Question Id : 342604114 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For an EM Wave, the electric and magnetic fields are 300 V/mand 7.9 A/m respectively.
The maximum rate of energy flow 1s

Options:
watt
2730
) m-
1, %
watt
2790 —
m-
2. %
watt
2370 -
m-
3¢
watt
2390 n
_ m-
4. %

Question Number : 115 Question Id : 342604115 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Which of the following particle has the shortest de-Broglie wavelength?
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Options:

Proton
1%
Electron
2. %
o — particle
3.
X —rays
4. %

Question Number : 116 Question Id : 342604116 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hydrogen atom in the ground state absorbs AE amount of energy. If the orbital angular

, - h .
momentum of the electron 15 mereased by 7—(11 = Plank constant) , then the magnitude
In
of AE 15
Options:
12.09 eV
1.%
12.75 eV
2. %
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10.2 eV
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13.6 eV

Question Number : 117 Question Id : 342604117 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a nuclear reactor, the main purpose of the moderator 1s to

Options:

Initiate the fission process by giving away 1ts neutron

1, %

Slow down the fast neutrons
2.

Cool down the excess of heat generated in the reactor
3. %

Absorb excess of neutrons and control the reaction rate
4. %

Question Number : 118 Question Id : 342604118 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If the temperature of the semi-conductor 1s mereased, which of the followng is correct
statement?

Options:
1.

:
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It’s resistance increases
The number of electrons 1n valence band increases

The number of electrons in conduction band increases
3.

The number of holes 1n valence band decreases

Question Number : 119 Question Id : 342604119 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Two ammeters A, and A, are connected as shown in the given figure. By neglecting the
nternal resistance of the ammeters, the reading 1n the meter A, 1s

10

0Q

Options :
1.

:
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(R

0A
2.9

1A
3. %

4A
4. %

Question Number : 120 Question Id : 342604120 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A message signal of frequency f 15 used to modulate a carrter of frequency f . If the

side bands are f, and f, then the ratio == 1

/ m

Options:

h + 1
L, =4
1.¢
(f1 +L2)2
5 /s

gcollegeduniaa
33 India’s largest Student Review Platform




:
gcollegedumas
India’s largest Student Review Platform

~



h =1
L+

4.

Chemistry
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Question Number : 121 Question Id : 342604121 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Heisenberg’s uncertainty principle 1s ingeneral significant to

h /s
(£ =£)

®
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Options:

planets
1%

cricket ball of 500 g

2. %

cars

micro particles having a very high speed
4.v

Question Number : 122 Question Id : 342604122 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following relations 1s correct, if the wavelength (1) 15 equal to the
distance travelled by the electron in one second?

b 1s the planck’s constant and m 15 the mass of electron

Options:
A=h/p
1. %
A=h/m
2. %
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2=4/b/p
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A =4/h/m

Question Number : 123 Question Id : 342604123 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The set of amphoteric oxides among the given oxides are
Ga,0;, As,0;;, Sb,Oy; B,O;, TLO

Options :

TLO, B,0,

Sb,0,,. B,0; . Ga,O,

2. %
Ga,0,, T1,0, As,O,
3. %
Ga,0, ; As, 0. Sb,0,,
4.

Question Number : 124 Question Id : 342604124 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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g 5 g y 1 a . g
The first tonisation energies (in kT mol™) of four consecutive elements of the second
period are given 1 the options. The first tonisation energy of nitrogen 1s
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Options:

., logs

1402
2.

1681
3. %

1314
4. %

Question Number : 125 Question Id : 342604125 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Highest covalent character 1s found i which of the following?

Options:
CakF,
1, % )
Cacl,
2. = i
CaBr,
N 2
" W collegedunias
C a I: g India’s largnsl%dnnl Review Platform

\'.i/



:
gcollegedumas
India’s largest Student Review Platform

~



Question Number : 126 Question Id : 342604126 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct sequence of bond order 1s

Options:

0,30, 50, >O§_

1. %

00,5050,
2.
. 050,20 =0;
. 0. 50,505 »0;

Question Number : 127 Question Id : 342604127 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The most probable velocity of a gas at 7200 K 1s equal to the RMS velocity of He

gas at 27 °C. The gas 1s

Options:

O, ‘
% i gcollegedunlaﬁ
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cO

N2

SO,

4. =

Question Number : 128 Question Id : 342604128 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A plot of volume of the gas Versus T (K) 1s shown below. Which of the options 15
correct for the plot?

Pl
P,

T /
Pl

\r

73 T(K)—

0 (K)
Options:
P <P, <Py

W
:
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P.el «F

P, =P, =P,

3. %

P=P,=P,=0 at 273K

4. %

Question Number : 129 Question Id : 342604129 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the balanced equation of the following reaction, the ratio of a/b 1s a
aCaCO, +bH,PO, »pCa, (PO, ), + qCO, +H,0

Options :
1. % 2/3
)
2.¢ 32
1/2
3. %
7/5
4.
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Question Number : 130 Question Id : 342604130 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The number of grams of oxygen m 32.2 g of Na,SO,.10H,0 15 approximately

Options:
322 ¢
1. %
224 ¢
2.«
11.2
3. % N
64.4 g
4. %

Question Number : 131 Question Id : 342604131 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Enthalpy of hydrogenation of one mole of benzene to cyclohexane 1

[Resonance energy of benzene = - 150.4 kl/mole.
Enthalpy of hydrogenation of cyclohexene =-119.5 kJ/mole]

Options:

— 208.1 kJ/mole

1.¢

— 358.1 kJ/mole .
¥ collegedunia:
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+150.4 kJ/mole
3. %

—269.9 kJ/mole

4. %

Question Number : 132 Question Id : 342604132 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

List-1 List-2
Acid Ka (10onization constant)
A) HCN ) 68x10™
B) HE.0; ) 89x10°
C) HS ) 49x10™
D) Niacin IV) 56%107

V) 15x10°
The correct match 1s

Options:
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I11 IV

=
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V II II1 1AY

A B C D

II II1 IV A%
3. %

A B C D

III IV I1 V
4.¥

Question Number : 133 Question Id : 342604133 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[f the molar concentrations of base and its conjugate acid are same, then pOH of the
butfer solution 1s

Options:

same as pKy of base
1.¢

same as pK; of base
2. %

same as pK,; of acid

%
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same as pKy of acid

Question Number : 134 Question Id

: 342604134 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

catalyst

H, +CO+alkene

»1° alcohol

What 1s the stable intermediate and the nature of the reaction?

Options :

acid. reduction

aldehyde. oxidation

aldehyde. reduction

alcohol. oxidation

Question Number : 135 Question Id

: 342604135 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0
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The correct order of electrical conductivity of alkali metals 1ons m their aqueous
solution for Cs™, K, Na™ and Li"1s

Options:

Ce' K= Na'=Li

1.

K "« Cs>T1">Na~

Cs's> K'>ITi">Na*

3. %

LE s Nar sk "siEs

Question Number : 136 Question Id : 342604136 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following complex 1ons does not exist?

Options:

| B(H0), |

1.

. gcollegedunia;



[Al(H,0), |
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[Ga(H,0), [

3. %

[In(H’O)s T+

Question Number : 137 Question Id : 342604137 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct?

a) The 1sotope of carbon containing 7 neutrons has natural abundance of 1.1 %

b) Among the IVA group elements, $n has the lowest melting pornt

¢) Silicon is the 2% (by mass) most abundant element in the earth’s crust

d) Elemental carbon shows the highest electrical resistivity among the 14 group
elements

Options:

a, ¢ and d only

1, %

a, b and c only
2. %

b, c and d only
3. %

gcollegedunia;
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a,b.candd
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Question Number : 138 Question Id : 342604138 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following chemicals can be used as dry cleaning agents”
a)  CL,C=C(C],

b) €O, (li
C

d

)
H,0,
) CH,CHO

Options :

a.b.cand d

1%

a. b and c only
2.¢

b, ¢ and d only
3. %

a and b only
4. %

Question Number : 139 Question Id : 342604139 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The number of sp and sp carbon n Hepta-1, 3-dien-S-yne, respectively, are

Options:

:
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1.¢

4,3
2. %

2,2
3. %

2y
4. %

Question Number : 140 Question Id : 342604140 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When propyne 1s passed through a red hot 1won tube at 873 K, the reaction gives
product having molecular formula of
Options:

C‘7:[__]:8

CoHy,

2.9

i W collegedunia:
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Question Number : 141 Question Id : 342604141 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Total number of aromatic compounds from below 1s

NH,
Options :

2
1. %

3
2.
3. %

5,
4. %

000
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Question Number : 142 Question Id : 342604142 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A compound made up of elements A and B (with a general formula Ay By), where B
form a hep lattice and A occupy 2/3* of the tetrahedral voids. The formula of the
compound 1s

Options:

3. ¢

A,B,

Question Number : 143 Question Id : 342604143 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[f the density of a 2 M solution of ethylene glycol n water s 1.11 g/ml, the molality
(in ‘m’) of the solution 1s approximately

Options:
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Question Number : 144 Question Id : 342604144 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Given
Sol A: Phenol and aniline
Sol B : Chloroform and acetone

Which of following is correct as per Raoult’s law?

Options :

Sol A shows —ve and B shows +ve deviation

1. %

Both solutions A and B show -ve deviation
2.

Sol A shows +ve and B shows —ve deviation
3. %
4,
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Question Number : 145 Question Id : 342604145 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Salts of A (atomic weight 8), B (atomic weight 18) and C (atomic weight 50) were
electrolysed under 1dentical conditions using the same quantity of electricty. It was
found that 2.4 g of A was deposited, the weight of B and C deposited are 1.8 g and
7.5 g respectively. The valences of A, B and C are, respectively,

Options:

3.1and 2

1.2 and 3

2. %
1.3and 2
3. ¢
3.2and 1
4. %

Question Number : 146 Question Id : 342604146 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What will be the overall order of a reaction for which the rate expression is grven as
;

Rate = K[A]% [B]E

Options:

second order
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first order

2. %
zero order
3. %
third order
4. %

Question Number : 147 Question Id : 342604147 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following options are correct?

P constant P constant

—_—
—

A mount of gas adsorbed
A mount of gas adsorbed

T i

© | (I
> 0
: :
= g
o distance 5
5 =
A 5
°
150 kI mol”! é
T3
Options:

a and c represent physisorption
1. %
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a and d represent physisorption
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a and c represent chemisorption

3.¢

b and ¢ represent chemisorption

Question Number : 148 Question Id : 342604148 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mam products formed when copper metal 1s reacted with concentrated HNO; are

Options :

. Cu(NO; ), : NO
Cu(NOG,), : H,

2. % &
Cu(NO,), ; NO,

3.¢ | - )
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Question Number : 149 Question Id : 342604149 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : SE, 1s highly stable
Reason (R) : SEK;1sa gas
The correct option among the following 1s

Options:

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
2. ¢

i} (A) 1s true but (R) 1s false
3.

(A) 1s false but (R) 1s true
4. %

Question Number : 150 Question Id : 342604150 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete hydrolysts of XeFs and XeFe gives ts oxides P and Q, respectively. Identify
PandQ

Options:
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XeO, XeO,

(5]
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XeO XeO,
2. % )
P Q
XeO; XeO,
3.¢
P Q
XeO, XeO,
4. %

Question Number : 151 Question Id : 342604151 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following

Column-1
Reaction

A) " 4FeCl,+3K, | Fe(CN), |>

B)  ZnCl, +4NaOH—
C) 2FeCL+H,S—

The correct match 1s

Options :

A B €

I HE VI
1.
2.

A B C

IV Vv II

3.

Column-2
Main product
) Fe,|Fe(CN), |,
II) FeCl
) Zn(OH)CI
V) Fe,| Fe(CN), |

V) Na,ZnO,
VI) FeS
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Question Number : 152 Question Id : 342604152 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

)

ﬂwmmmmmmmMHﬁmeMRmnw?dN&%CHNOJWmdﬁbﬂﬂm)}

|
-

tespectively, are

Options:

42 41
1. %

25 T
2. %

+22 43
3.

3§ 42
4. %

Question Number : 153 Question Id : 342604153 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The structure of o —D — Fructofuranose 1s

Options:
1.
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3. &
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Question Number : 154 Question Id : 342604154 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

CH, -CH, - Br+ Mu® -CH, -CH, - Nu+ Br®

18

The decreasing order of the reaction rate with nucleophile (NuU

Nu® =(1) Pho?; (11) cH, c00°: () 0B (V) CH,0°

Options:

INZIIL=1=1

1.¢

IV>III>1>1
2. %

[l ==>IV
3. %

IT =IN>H>1
4. %

Question Number : 155 Question Id : 342604155 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

:
gcollegeduma;
||||| ‘s largest Student Review Platform



Identity Z m the following reaction

PB;,
CH, CH, OH TP

(1)H,SO,,RT
Y >/
(11)H,0, heat




Options:

CH, =CH,

CH,CH,OH

2.

CH,CH, - O—CH,CH,
3. %

CH,CH, -SO,H

Question Number : 156 Question Id : 342604156 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which of the following compounds deoxygenation 1s possible when heated with Zn

(COOH

R

Options:
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A.BandC

A.CandD
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B and D

3.¢

B and C

Question Number : 157 Question Id : 342604157 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product of the following reactions 1s

CH, §) BH,
i) H,0,/ NaOH

L4

1) PCC

1iv) PhMgBr

v) HO
Options:

:
gcollegeduma;
India’s largest Student Review Platform



OH
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OH

3.v

Question Number : 158 Question Id : 342604158 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following

Column-1
Reaction of carbonyl
compound with

A) Hydroxylamimne

B) Alcohol
() Hydrazine
D) Amme

The correct match 1s

Options :
A B
III IV
1.
A B
III II
2.
A B
I JAY
3.

Column -2
Product

[)  Hydrazone
II) Schuff’s base (Substituted mine)
III) Oxime

IV) Ketal
® D
I 11
@ D
I IV
& D
111 I1



II

III

I\]’
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Question Number : 159 Question Id : 342604159 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

Column-1 Column-2
Acid pKa value
A) CH;COOH I) 0.23
B) F;:CCOOH II) 3.41
C) II) 4.19
COOH
D) COOH IV) 4.76
NO

The correct match 1s

Options:
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IV

III

II
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IV II I1I
A B C D
IV I IT I1I
3. %
A B G D
IV III IT I
4. %

Question Number : 160 Question Id : 342604160 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Products that are formed i the given reaction including by products are

CH,CH,CH,CH,CONH, + Br, + 4NaOH -
Options:

CH,CH,CH,CH,CH,NH, +Na,CO, +2NaBr+2H,0
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CH,CH,CH,CH,NH, + Na,CO, +2NaBr+2H,0

:
gcollegedumas
India’s largest Student Review Platfori m



3. %

4. %

CH,CH,CH,CH,CH,NH, +2NaHCO, +Br, +2H,0

CH,CH,CH,CH,NH, + 2 Na,CO, +Br, +2H,0



